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SENTENCE MATCHIING 
Direction (Q. 1 - 4): In the following question, two columns are 

given, containing three phrases each. A phrase from the first 

column may or may not connect with a phrase from the second 

column to make a grammatically and contextually correct 

sentence. There are five options, four of which display the 

sequence(s) in which the phrases can be joined to form a correct 

sentence. If none of the phrases make a correct sentence, mark 

‘None of these’ as your answer. 

1. 

Column (1) Column (2) 

(A) Essentially, naturally-

occurring CRISPR 

(D) gives a cell seek-and-destroy 

capability. 

(B) In bacteria, CRISPR works 

by transcribing spacer sequences 

that 

(E) identify the target virus 

DNA. 

(C) CRISPR is a versatile 

technique because it 

(F) is cost-effective and allows 

for a huge selection of targets. 

1. C-F and B-D 2. B-E 

3. C-D and B-F 4. A-F 

5. None of these 

2. 

Column (1) Column (2) 

(A) A neon light consists of a 

glass tube filled with 

(D) a small amount of low 

pressure of neon gas. 

(B) A neon light actually works 

using 

(E) attracted to the negative 

terminal of the light. 

(C)The positively charged neon 

atoms (cations) are 

(F) either AC (alternating 

current) or DC (direct current). 

1. B-E 2. A-F 

3. C-D and B-F 4. C-F and B-D 

5. None of these 

3. 

Column (1) Column (2) 

(A) Humans have much in 

common with other mammals 

(D) have several unique physical 

and emotional traits. 

(B) Most species that have 

existed on planet Earth are 

extinct, 

(E) on Earth in terms of 

physiology. 

(C) Apart from obvious 

intellectual capabilities, humans 

(F) including a number of early 

human species. 

1. B-E 2. C-F and B-D 

3. A-F 4. C-D and B-F 

5. None of these 

4. 

Column (1) Column (2) 

(A) Basal vertebrates such as 

cartilaginous fishes 

(D) is one of the group's defining 

characteristics. 

(B) The vertebral column in 

vertebrates 

(E) are multiple vertebrae that 

form a backbone. 

(C) Vertebrates have a vertebral 

column in which there 

(F) and ray-finned fishes breath 

using gills. 

1. B-E 2. C-F and B-D 

3. A-F 4. C-D and B-F 

5. None of these 

Direction (Q. 5 - 7): In the following question, two columns are 

given containing three phrases each, In the first column, the 

phrases are A, B, and C, and in the second column, the phrases 

are D, E, and F. A phrase from the first column may or may not 

connect with a phrase from the second column to make a 

grammatically and contextually correct sentence. There are five 

options, four of which display the sequence(s) in which the 

phrases can be joined to form a grammatically and contextually 

correct sentence. If none of the options given forms a correct 

sentence after combination, select 'None of these' as your 

answer. 

5. 

Column (A) Column (B) 

(A) Gina didn't show up for the 

party even though 

(D) made him a favourite 

among the guests. 

(B) He had impeccable manners 

which 

(E) appealed to people of all 

ages. 

(C) The movies of that 

particular hero 

(F) she was invited many 

times. 

1. A-D 2. B-F 

3. A-F and C-E 4. B-E and C-F 

5. None of these 

6. 

Column (1) Column (2) 

(A) The forest cover in the 

state 
(D) have all retired. 

(B) The teachers who 

taught me in school 
(E) was when I was nine years old. 

(C) The last time I visited 

Shimla 

(F) have been reduced by over 

20% over the last decade. 

1. A-D 2. C-F 

3. B-D and C-E 4. A-E and B-F 

5. None of the above 

7. 

Column (A) Column (B) 
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(A) He spent all night 

playing poker 

(D) he spent all his wages 

drinking. 

(B) The horror movie had 

done 

(E) a good job in scaring the 

audience. 

(C) Instead of buying 

groceries, 

(F) as if his life depended on 

it. 

1. C-D 2. B-D and A-D 

3. C-F 4. A-D 

5. None of these 

Direction (Q. 8 - 10): In the following question, two columns are 

given, containing three phrases each. A phrase from the first 

column may or may not connect with a phrase from the second 

column to make a grammatically and contextually correct 

sentence. There are five options, four of which display the 

sequence(s) in which the phrases can be joined to form a correct 

sentence. If none of the phrases make a correct sentence, mark 

‘None of these’ as your answer. 

8. 

Column (1) Column (2) 

(A) Chemical energy is produced 

by breaking or 

(D) of a physical system to 

perform work. 

(B) Energy is defined as the 

capacity 

(E)  forming chemical bonds 

between atoms and molecules. 

(C) Heat or thermal energy is 

energy from 

(F) the movement of atoms or 

molecules. 

1. A-F 2. C-F and B-D 

3. B-E 4. C-D and B-F 

5. None of these 

9. 

Column (A) Column (B) 

(A) Her friends were 

angry because she took 

(D) learn that he was kicked out 

of the basketball school. 

(B) His father was very 

disappointed to 

(E) forever to get ready for the 

party. 

(C) She was very 

punctilious in 

(F) providing her guests with 

all amenities. 

1. C-D 2. B-E 

3. A-D 4. C-F 

5. None of these 

10. 

Column (1) Column (2) 

(A) Hemodynamics is the study 

of blood flow 

(D) Maria was one of the most 

successful Latin American 

actresses of all time. 

(B) With a decades-long career 

spanning nearly fifty movies and 

five countries, 

(E) and come up with the design 

specifications to make that idea 

a reality. 

(C) A mechanical engineer has 

the skills to take an idea 

(F) which focuses on how the 

heart distributes or pumps blood 

throughout the body. 

1. A-F 2. C-F and B-D 

3. C-D and B-F 4. B-E 

5. None of these 

Direction (Q. 11 - 13): In the following question, two columns 

are given, containing three phrases each. A phrase from the first 

column may or may not connect with a phrase from the second 

column to make a grammatically and contextually correct 

sentence. There are five options, four of which display the 

sequence(s) in which the phrases can be joined to form a correct 

sentence. If none of the phrases make a correct sentence, mark 

‘None of these’ as your answer. 

11. 

Column (1) Column (2) 

(A) Artists manipulate these 

seven elements, mix them in 

(D) but at least two are always 

present. 

(B) Not every work of art 

contains every one of these 

elements 

(E) with principles of design, and 

compose a piece of art. 

(C) While line isn't something 

found in nature, it is absolutely 

essential as a concept to 

(F) depict objects and symbols, 

and defining shapes. 

1. C-D and B-F 2. B-E 

3. C-F and B-D 4. A-F 

None of these 

12. 

Column (1) Column (2) 

(A) Armadillos are exclusively 

New World mammals, 

originating 

(D) of the isthmus facilitated 

various armadillo species to 

migrate north. 

(B) Starting about three million 

years ago, the appearance 

(E) in South America millions of 

years ago during the Cenozoic 

Era. 

(C) Today, most armadillos live 

exclusively in central or South 

America; the only species that 

ranges 

(F) across the expanse of the 

Americas is the nine-banded 

armadillo. 

1. A-F 2. C-F and B-D 

3. B-E 4. C-D and B-F 

5. None of these 

13. 

Column (1) Column (2) 

(A) The years following the 

demolition of the Babri masjid 

have made it clear that the 

driving force behind the Ram 

Janmabhoomi campaign was 

(D) we realise once again that the 

pattern of education we have 

normalised is inherently 

pathological. 
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political, 

(B) The conceit and treachery of 

the act was justified by the 

Hindu maxim of achieving your 

objective: “Sama Dama Danda 

Bheda” 

(E) by the leader of the 

campaign, Lal Krishna Advani 

himself, that it was a political 

movement. 

(C) As the board examinations 

approach, and the dialectic of 

“success” and “failure” begins to 

haunt young learners and their 

anxiety-ridden parents, 

(F) the support from Sardar Patel 

who thwarted all moves by 

Jawaharlal Nehru to get the 

mosque restored to its original 

use by removing the idols placed 

in the mosque surreptitiously. 

1. A-E 2. B-F and C-D 

3. A-E and B-F 4. C-D 

5. None of these 

Direction (Q. 14 - 16): In the following question, two columns 

are given containing three phrases each, In the first column, the 

phrases are A, B, and C, and in the second column, the phrases 

are D, E, and F. A phrase from the first column may or may not 

connect with a phrase from the second column to make a 

grammatically and contextually correct sentence. There are five 

options, four of which display the sequence(s) in which the 

phrases can be joined to form a grammatically and contextually 

correct sentence. If none of the options given forms a correct 

sentence after combination, select 'None of these' as your 

answer. 

14. 

Column (A) Column (B) 

(A) Genetic and environmental 

factors work in tandem, 

(D) can have profound 

consequences for the 

unborn child. 

(B) No other issue involving 

the relative influence of 

heredity and environment 

(E) each affecting and 

being affected by the 

other. 

(C) Mothers’ use of alcohol 

(F) has generated more 

research than the topic of 

intelligence. 

1. B-E 2. C-E 

3. A-F 4. A-E and C-D 

5. None of these 

15. 

Column (A) Column (B) 

(A) Domestic violence is one 

of the ugly truths 

(D) practice to particular 

domains and, in doing so, 

gain experience. 

(B) Expertise develops as 

people devote attention and 

(E) about marriage in most 

countries, occurring at 

epidemic levels. 

(C) Broadly speaking, the 

governments of Asia, Africa 

and Latin America are 

(F) legitimized by mass 

enthusiasm rather than by 

individualism. 

1. C-F and B-D 2. A-F 

3. B-E 4. C-D and A-F 

5. None of these 

16. 

Column (A) Column (B) 

(A) People with 

considerable experience of 

playing video games 

(D) and then begins a 

gradual decline that 

continues until the end 

of life. 

(B) Intelligence peaks at age 18, 

stays fairly steady until the mid-

twenties, 

(E) terms of three 

sequential components. 

(C) Memory is traditionally 

viewed in 

(F) become better at 

reacting to stimuli and 

switching between 

tasks. 

1. B-D 2. A-E 

3. A-D and C-F 4. C-D 

5. None of these 

Direction (Q. 17 – 21): In this question, two columns I and 

II and three sentences are given, which are divided into two 

parts. Column I (A, B and C) consists of the first half of each 

sentence and Column II (D, E and F) consists of the second half 

of each sentence. Match column I with column II, so that the 

sentences formed are both meaningful and grammatically 

correct. Choose the option as your answer. 

17. 

I 

A) Tulsi removes cough from the lungs and upper respiratory tract 

and 

B) The party where everyone is busy enjoying self, 

C) When reeds are partially immersed in a bottle of fragrance oil, 

fragrance 

II 

D) provides clear and comfortable breathing. 

E) travels up the reeds and gently contracts the room. 

F) nobody knows who the host is. 

1. A-D and B-F 2. A-D 

3. A-D and C-E 4. A-F, B-D and C-E 

5. B-F 

18. 

I. 

A) The people who design the rooms are clearly people who do read 

much themselves 

B) Ever since they walked down the aisle with the princes of 

C) It had been 15 years since we had last met 

II. 

D) their dreams, the racism, sexism and plain old misogyny had got 

out of control. 

E) and assume that guests will be functional illiterates. 

F) and there was more to say 

1. A-E 2. A-E and C-F 

3. C-F and B-E 4. A-E, B-D and C-F 

5. B-D 

19. 
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I 

A) Nobody else has ever been able to walk into a hotel shower stall 

B) The overall proportions are superb and there are lots of 

C) Many of them asked me 

II 

D) whether I were a boy or a girl. 

E) and work out at once how to turn the water on. 

F) design details like the sleek-looking tail lights and muscular 

wheel arches that stand out. 

1. C-D 2. A-E and C-D 

3. B-F and C-D 4. A-E and B-F 

5. A-E, B-F and C-D 

20. 

I 

A) A food combination that is easy on your digestive system 

provides 

B) They took some time to appreciate the work 

C) I have rehearsed so much before going to the stage that 

II 

D) I was in the panic mode in the first few performances. 

E) and efforts that is put into creating the masterpiece. 

F) instant energy and lowers bloating. 

1. A-F and C-D 2. A-F 

3. A-E, B-D and C-F 4. B-F and C-D 

5. B-E 

21. 

I 

A) He started at a small suburban restaurant and moved to work 

with 

B) He fiddled around, and then miraculously, hit the right button 

C) A great deal of time is spent trying to 

II 

D) one of the best chef in Australia. 

E) determine what should be played and by which rules. 

F) so that the lights in the dining area came on. 

1. A-E and C-D 2. A-E 

3. A-D and C-F 4. B-F and C-E 

5. B-E 

Direction (Q. 22 - 26): In this question, two columns I and 

II and three sentences are given, which are divided into two 

parts. Column I (A, B and C) consists of the first half of each 

sentence and Column II (D, E and F) consists of the second half 

of each sentence. Match column I with column II, so that the 

sentences formed are both meaningful and grammatically 

correct. Choose the relevant option as your answer. 

22. 

I. 

A) There seems to be no drop in the form 

B) The hatred that both countries have for each other 

C) In his salad days, my grandfather was 

II. 

D) seems to have amplified after the recent incident. 

E) have been the best motorcycle in Germany. 

F) of Ronaldo after the World Cup. 

1. C-E and A-D 2. B-D 

3. A-F, C-D and B-E 4. A-F and B-D 

5. C-D 

23. 

I. 

A) Both companies were targeting 

B) My uncle had a dog, who 

C) Strategic missiles represents a logical step  

II. 

D) from a car company. 

E) students from college who were in their early twenties. 

F) in the attempt to attack enemy forces at a distance. 

1. A-D and C-E 2. C-E and B-F 

3. A-E 4. A-E, B-D and C-F 

5. C-D 

24. 

I. 

A) Selfish politicians should never make it 

B) Being rich doesn’t guarantee you 

C) There are apps that calculate the range of your electric car, 

II. 

D) usually in the form of a circle on a map showing the approximate 

range. 

E) goes to the backseat of the car. 

F) there was still and attempt made. 

1. C-D 2. B-D and A-F 

3. A-E, B-D and C-F 4. C-F 

5. B-D and C-E 

25. 

I. 

A) The entire experience of using electric  

B) The dog was chasing a squirrel 

C) Despite all the efforts 

II. 

D) Of having to live with that.  

E) Someone needs to tell him.  

F) mobility should be much more convincing. 

1. A-D 2. C-F and B-E 

3. A-D, B-E and C-F 4. A-F 

5. A-E and C-D 

26. 

I. 

A) Some men are not interested in 

B) There were ample reasons why you 

C) There is no statute that specifically states that texting  

II. 

D) can be  treated on  a par with criminal negligence 

E) playing football as they find it a risky sport. 

F) it was meant to be. 

1. A-D, B-E and C-F 2. B-D and A-F 

3. A-E and C-D 4. C-D 

5. A-E 

Direction (Q. 27 - 31): In this question, two columns I and 

II and three sentences are given, which are divided into two 

parts. Column I (A, B and C) consists of first half of each 

sentence and Column II (D, E and F) consists of second half of 

each sentence. Match column I with column II, so that the 

sentences formed are both meaningful and grammatically 

correct. Choose the option as your answer. 

27. 
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I 

A) They could not provide  the police with any evidence to prove 

their innocence, 

B) Vaporizers do not just waft lovely aromas, 

C) He is now a sprightly 90 and I felt a surge of nostalgia as 

II 

D) but can also look beautiful in your home.   

E) we shake hands and then hug. 

F) so both of them were arrested. 

1. A-F and B-D 2. A-E, B-F and C-D 

3. A-D and B-F 4. B-F and C-E 

5. C-D 

28. 

I 

A) Having finished his skillet eggs and cappuccino 

B) It is sad, because we all need help or 

C) You feel like you are in the cockpit of a spaceship bound for  

Mars 

II 

D) even expertise guidance around modern hotel rooms. 

E) Jim posed for photos and chided me for having picked up the tab. 

F) because there are few different knobs and buttons. 

1. B-D and A-E 2. C-F 

3. C-F and A-E 4. B-E, A-D and C-F 

5. A-E 

29. 

I 

A) Space is another area where the vehicle aces it, especially in the 

rear 

B) Almonds are high in vitamin E, riboflavin, fibre, phosphorus, 

C) When she first told her parents about her interest in dancing, they 

were confused since 

II 

D) magnesium, protein, and calcium. 

E) where there is a lot of leg and head room. 

F) they were not sure about their capacity to afford this hobby. 

1. A-E 2. A-C, B-F and C-D 

3. A-D and B-F 4. A-F and B-E 

5. A-E, B-D and C-F 

30. 

I 

A) The combination of nutrients in the pulses will give you an 

energetic feeling for the next few hours, 

B) Alcohol leaves a strong acidic ash in the body, which make the 

body 

C) It’s that time of the year when the smog descends in thick 

blankets 

II 

D) and chokes up the city with dust and smoke. 

E) and at the same time, you are less likely to feel sluggish. 

F) vulnerable to illness. 

1. A-D 2. A-F and B-D 

3. A-E and C-D 4. B-F and C-D 

5. C-F 

31. 

I 

A) When the fishing was done, he brought 

B) Although Sri Lanka has cuisines of its own, connections of 

history and geography make much of its 

C) One evening they got chatting with some of the guests and since 

II 

D) quite similar to the Indian cuisines of the south. 

E) everyone was staying away that night, they decided to do a small 

potluck. 

F) the net to the fisherman. 

1. A-F 2. A-D and B-F 

3. A-D, B-F and C-E 4. A-F and C-E 

5. C-E 

Direction (Q. 32 - 36): In the following questions, two columns I 

and II, each containing three sentences 

are given. Column I consists of the first part of three sentences and 

Column II consists of the remaining part of those three sentences. 

Match column I with column II, so that the sentences formed are 

meaningful and grammatically correct. 

32. 

I.  

A) We believe in a circular rather 

B) The Rig Veda was written more than 3800 years ago, 

C) The word 'Juggernaut' was originally used to denote the Rath 

Yatra temple car, 

II. 

D) Veda is superior to Albert Einstein's Theory of Relativity 

equation. 

E) than a linear concept of time. 

F) which was so massive that it could crush devotees under the 

wheels. 

1. B-E and C-F 2. A-E, B-F and C-D 

3. A-F and C-D 4. B-F 

5. A-E and C-F 

33. 

I. 

A) A garbage patch in the Pacific Ocean 

B) There's a mass of floating rubbish in the Pacific Ocean weighing 

around 

C) About 80 percent of the plastic trash that makes up the Great 

Pacific Garbage Patch 

II. 

D) is believed to have originated from land-based activities. 

E) to help farmers who depend on weather. 

F) has stretched to almost twice the size of France. 

1. B-E and C-F 2. A-E, B-F and C-D 

3. A-F and C-D 4. B-F 

5. A-E and C-F 

34. 

I.  

A) Overfishing can wreak havoc to marine ecology and completely 

B) Unsustainable fishing practices over the last few decades have 

pushed 

C) Oil destroys the insulating and water-repellent properties of 

II.   

D) eventually accumulating in remote areas of the world’s oceans. 

E) our oceans to a point where they may now be on the verge of 

collapse. 

F) the marine animals, exposing them to harsh environment. 
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1. B-E and C-F 2. A-E, B-F and C-D 

3. A-F and C-D 4. B-F 

5. A-E and C-F 

35. 

I.  

A) At Harvard, Sheryl founded a group meant to encourage women 

B) Sheryl Sandberg is responsible for spearheading several 

successful Facebook projects 

C) In the hall of fame of women breaking the glass ceiling and 

painting their name on it, 

II. 

D) and ended up becoming the first Indian woman to obtain a 

degree in Western medicine in the late 1800s. 

E) to know so much about them as possible. 

F) that have made the social networking site the market giant it is 

today. 

1. B-E and C-F 2. A-E, B-F and C-D 

3. A-F and C-D 4. B-F 

5. A-E and C-F 

36. 

I 

A) Elephants prefer one tusk over the other, 

B) Elephants use their feet to listen, they can pick up 

C) Elephants herds are matriarchal, with older females taking 

II. 

D) care of the calves and protecting them while travelling from 

place to place. 

E) just as humans are mostly either left or right-handed. 

F) sub-sonic rumblings made by other elephants, through vibrations 

in the ground. 

1. B-E and C-F 2. A-E, B-F and C-D 

3. A-F and C-D 4. B-F 

5. A-E and C-F 

Direction (Q. 37 - 41): In this question, two columns I and 

II and three sentences are given, which are divided into two 

parts. Column I (A, B and C) consists of first half of each 

sentence and Column II (D, E and F) consists of second half of 

each sentence. Match column I with column II, so that the 

sentences formed are both meaningful and grammatically 

correct. Choose the correct option as your answer. 

37. 

I. 

A) The result of the test 

B) She has suffered from depression 

C) She arrived an hour late 

II. 

D) because she was sixteen. 

E) effected the student’s overall mark. 

F) as is her wont. 

1. B-D 2. A-E and C-F 

3. C-F 4. A-E, B-F and C-D 

5. C- D and A- F 

38. 

I. 

A) The company’s sales figures for the first 

B) To ensure that your crockery doesn’t 

C) Driver who exceed the 

II. 

D) break, wrap it all in a bubble wrap. 

E) six months augur well for the rest of the year. 

F) speed limit are asking for hefty fines 

1. B-F and C-E 2. A-E and B-D 

3. C-D and A-F 4. C-E 

5. B- D Reattempted 

39. 

I. 

A) His writing is 

B) Construction is expect 

C) I waited for the results 

II. 

D) with bated breath. 

E) almost eligible. 

F) to start in February. 

1. B-F and C-E 2. A-E and B-D 

3. C-D and A-F 4. C-E 

5. C-D 

40. 

I 

A) The whole evening 

B) The Art department and the 

C) This essay is 

II 

D) full of misspelled words. 

E) music department are in two separate buildings. 

F) have an unreal quality to it. 

1. B-F and C-E 2. A-E and B-D 

3. B-E and C-D 4. C-E 

5. C-D 

41. 

IA) The company is offered a 

B) Arsenal is a shoo-in 

C) He lack the 

II 

D) to win the title this season. 

E) necessary skills for the job. 

F) sneak peek at the new software. 

1. B-F and C-E 2. B-D 

3. C-D and A-F 4. B-E 

5. C-D 

Direction (Q. 42 – 50): In the following questions two columns 

(A and B) are given containing three clauses/phrases each. In 

first column, clauses /phrases are A, C, and E and in the second 

column the clauses /phrases are B, D, and F. A clause/phrase 

from the first column may or may not connect with another 

clause/phrase from the second column to make a grammatically 

and contextually correct sentence. Each question has five 

options i.e. (a), (b), (c), (d), and (d), which display the 

sequence(s) in which the clauses/phrases can be joined to form a 

grammatically and contextually correct sentence. 

42. 

Column A Column B 

The SUV is suspected to have 

emerged from 

and rushed to the court. 

The Jaish – e – Mohammed right hand and dash against it. 



 

 

 
For Doubts and Suggestions Call : 1800-1020-546     7   

  

TOPIC  TEST- 4 
 

                          India's Best Selling Test Series at www.ibtindia.com                                                              TIME-60 MINS  

Make My Exam 

claimed responsibility for the 

attack 

He came of a side road to hit the bus at a 

right angle. 

1. C – B 2. Both C – B and A – F 

3. A – F 4. E – F and C – B 

5. A – F, C – B and E – D 

43. 

Column A Column B 

He said efforts should be made 

to stop the shifting as 

headquarters of the Western 

Commands 

had already been shifted from 

Shimla to Chandimandir. 

While the ruling party sees the 

lack of enthusiasm among the 

farmers as the failure of the 

government 

personally hand over letters to 

each beneficiary. 

It was in the response to this                                      

that in January, Cooperatives 

Minister got Chief Minister 

Singh to 

on the Congress over the 

implementation of the waiver. 

1. E – B 2. Both C – B and A – F 

3. A – F 4. A – B and E – D 

5. A – F, C – B and E – D 

44. 

Column A Column B 

Concluding that it should not be 

seen as 

who had committed suicide and 

whose debt has not been waived 

off. 

On the first day of the budget 

session, the party paraded 

families of farmers 

over 70 per cent of agriculture 

land in the state is owned by 

farmers having over 10 acres. 

We should not indulging in political one-

upmanship son after the terror 

attack. 

1. C – F 2. Both A – F and C – B 

3. A – D 4. E – F and C – B 

5. A – D, C – B and E – F 

45. 

Column A Column B 

I don't think the right thing is to 

reach back into history 

a formal apology for the 

Jallianwala Bagh massacre 

during a visit to Amritsar. 

This is the historic moment as 

the centenary of the massacre 

falls 

while he blocked the main exit 

with his soldiers and armoured 

vehicles. 

Prime Minister had defended a 

decision to not deliver 

and to seek out things you can 

apologize for. 

1. C – B 2. Both C – B and A – F 

3. A – F 4. A – F and E – B 

5. A – F, E – B and C – D 

46. 

Column A Column B 

The Jaish – e – Mohammad 

claimed the bomber was 

because what kind of coalition 

will emerge. 

Both  are members of newly- a number of Indians including 

formed Centenary 

Commemoration Committee, set 

up 

Lady Misha Desai and Mr. VP 

Kalra. 

The JBCCC, chaired by 

businessman and philanthropist 

Kakar is made up of 

nine speakers during what is 

listed as a "short debate". 

1. A – B 2. Both A – B and E – D 

3. E – D 4. E – F and C – B 

5. A – F, C – B and E – D 

47. 

Column A Column B 

A national alliance would give 

the BJP an opportunity to frame 

with communal vendetta and 

that should be condemned and 

opposed. 

Both the Congress and BJP 

governments appear to be 

functioning 

the battle as them versus a 

ragtag coalition. 

It is also said that the power to 

appoint Special Public 

Prosecutors 

F. would vest with the Delhi 

government. 

 

1. A – D 2. Both C – B and A – D 

3. E – F 4. E – F and C – B 

5. A – D, E – F and C – B 

48. 

Column A Column B 

The Left has been the 

pivot of opposition 

unity efforts in the past 

they decided to refer 

the matter to a larger 

bench. 

 

Since two judges 

differed on who should 

have control over the 

administrative services, 

said it is still a "fluid 

situation". 

A day after leaders of 

six opposition parties 

discussed the idea 

has been the practice 

all along for the last 

three decades. 

1. C – B 2. Both C – B and E – F 

3. A – D 4. E – D and C – B 

5. C – F, A – D and E – B 

49. 

Column A Column B 

Broader issues focused 

more on post - election 

prepared for the attack in 

one of the towns. 

All mainstream political 

parties in the Valley 

condemned the 

explosion 

vain and the entire 

nation stands shoulder to 

shoulder with the 

families of the brave 

martyrs. 

Prime Minister 

promised that the 

sacrifices of our brave 

security personnel shall 

not go in 

already have an 

understanding with the 

NCP. 

1. C – F 2. Both C – B and A – F 

3. E – D 4. E – F and C – B 
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5. A – F, C – B and E – D 

50. 

Column A Column B 

The number of surgeries have 

also seen a dip due to 

constraints 

to maintenance of temperature 

inside operation theatres. 

Ninety per cent of the power 

supply has been 

for sometime during movement 

of Army and security forces 

convoys. 

Car bombing is not new to 

Jaish 

transferred by Fareed to two 

bank accounts. 

1. A – B 2. Both C – B and A – F 

3. A – B 4. E – F and C – B 

5. A – F, C – B and E – D 
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1. (2) 2. (5) 3. (4) 4. (3) 5. (3) 6. (3) 7. (1) 8. (2) 9. (4) 10. (1) 

11. (3) 12. (2) 13. (4) 14. (4) 15. (1) 16. (1) 17. (2) 18. (5) 19. (4) 20. (2) 

21. (4) 22. (4) 23. (3) 24. (1) 25. (4) 26. (3) 27. (1) 28. (5) 29. (5) 30. (3) 

31. (1) 32. (5)  33.(3) 34. (1) 35. (4) 36. (2) 37. (3) 38. (2) 39. (5) 40. (3) 

41. (2) 42. (3) 43. (4) 44. (2) 45. (4) 46. (3) 47. (5) 48. (1) 49. (3) 50. (1) 


